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Why Partial Reconstruction?
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Approach 1.0
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We start with B to X1r

Tag side B selection:

e M, _>5.27GeV/c?
e |AE|<0.05GeV
e FEI Signal Probability > 0.01
Select a 1 with:
e |dO|<1and|z0|<3
° L[K/TT] < 0.9 and p-id < 0.9 and e-id < 0.9

continuum suppression:

e Event sphericity > 0.2
e Btag’'scosTBTO<0.9

BCS: Event with highest FEI signal probability and highest m momentum in CMS
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Scaling factor Vs tag mode
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Background subtracted data
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Background subtracted data
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Background subtracted data
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Approach 2.0
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Selection for B - Xp

e M, _>5.27GeV/c?
e |AE|<0.05GeV
e FEI Signal Probability > 0.01
Select a 1 with:
e |dOj<1and|z0|<3
° L[K/TT] < 0.9 and p-id < 0.9 and e-id < 0.9

continuum suppression:
e Event sphericity > 0.2
e Btag’s cosTBTO <0.9

Selecta m° with:
e 1 : mdst list
Further cuts to reduce background:
e p[m >150 MeV
e M[m°]€[0.12,0.15]GeV/c?
e Mi[p] €[0.6,0.9]GeV/c?

BCS: Event with highest FEI signal probability and highest p momentum in CMS
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What next?

e Continuum Suppression needs a revisit.

e Some specific Btag modes may be favourable.

e Some selection criteria on the pion invariant may help reducing the
background.

e Afit plan for the whole M region(1.4-3 GeV).

e Look if the signal, background pdfs depend on FEI modes.

recoil

e Double recoil method for an efficient understanding of D** .



Thank You
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